Bid # 17-345-006 - Institutional Clothing, Bedding and Toiletries Evaluation *

	Category A - Clothing				ry Supply sant, TN		Barker /arina, NC
	Category A - Clothing	1	Estimated	WIL FIE	Sain, IN	ruquay v	arma, NC
Bid Item		Unit of	Annual		Extended		Extended
#	Description	Measure	Quantity	Unit Price	Price	Unit Price	Price
1	V-Neck Shirts -	Each	910	Cint i noc		Ome i rice	1,1,00
1.0	(Small - Large)	Lacii	146	\$5.10	\$744.60	\$4.33	\$632.18
	(X-Large)		184	\$5.10	\$938.40	\$4.43	\$815.12
	(2X-Large)		194	\$5.58	\$1,082.52	\$4.43	\$859.42
	(3X-Large)		228	\$5.58	\$1,272.24	\$4.43	\$1,010.04
	(4X-Large)		112	\$6.31	\$706.72	\$4.43	\$496.16
	(5X-Large)		22	\$6.31	\$138.82	\$4.43	\$97.46
	(6X-Large)		6	\$6.79	\$40.74	\$4.43	\$26.5
	(8X-Large)		18	\$6.79	\$122.22	\$4.43 \$4.43	\$79.74
	, , ,		10	\$0.79		\$4.43	4
	Sub-total				\$5,046.26		\$4,016.70
2	Pull-on Trousers	Each	1369				
	(Small - Large)		380	\$6.42	\$2,439.60	\$5.67	\$2,154.60
	(X-Large)		386	\$6.42	\$2,478.12	\$5.79	\$2,234.94
	(2X-Large)		352	\$6.90	\$2,428.80	\$5.79	\$2,038.08
	(3X-Large)		169	\$6.90	\$1,166.10	\$5.79	\$978.5
	(4X-Large)		68	\$7.63	\$518.84	\$5.79	\$393.72
	(5X-Large)		10	\$7.63	\$76.30	\$5.79	\$57.90
	(6X-Large)		2	\$8.11	\$16.22	\$5.79	\$11.58
	(8X-Large)		2	\$8.11	\$16.22	\$5.79	\$11.58
	Sub-total				\$9,140.20		\$7,880.91
3	Crew-Neck Pullover Sweat Shirt	Each	479				
	(Small - Large)		138	\$4.84	\$667.92	\$4.99	\$688.62
	(X-Large)		147	\$4.84	\$711.48	\$4.99	\$733.53
	(2X-Large)		144	\$6.11	\$879.84	\$5.22	\$751.68
	(3X-4X -Large)		48	\$6.47	\$310.56	\$5.80	\$278.40
	(5X-Large)		1	\$6.71	\$6.71	\$5.80	\$5.80
	(6X-Large)		i	\$7.44	\$7,44	\$5.80	\$5.80
	Sub-total				\$2,583.95	7.11	\$2,463.83
4	Sweatpants Gray	Each	15				
	(Small -Medium)		6	\$6.31	\$37.86	\$5.66	\$33.96
	(Large - Xlarge)		6	\$6.61	\$39.66	\$5.66	\$33.96
	(2XLarge)		1	\$6.97	\$6.97	\$6.40	\$6.40
	(3XLarge - 5XLarge)		1	\$7.77	\$7.77	\$6.40	\$6.40
	(6X-Large)		i	\$9.08	\$9.08	\$6.40	\$6.40
	Sub-total			,	\$101.34		\$87.12
5	Thermal Top	Dozen	45				
	(Small - X-Large)		1	\$30.11	\$30.11	\$29.00	\$29.00
	(2X-Large)		10	\$30.74	\$307.40	\$31.00	\$310.00
	(3X-Large)		13	\$33.11	\$430.43	\$33.00	\$429.00
	(4X-Large)		13	\$34.11	\$443.43	\$34.00	\$442.00
	(6X-Large)		8	\$35.11	\$280.88	\$37.00	\$296.00
	Sub-total		-	\$55.11	\$1,492.25	\$57.00	\$1,506.00
6	Blue Jeans	Each	14		\$1,452.25		ψ1,000.00
U	(28" - 42" waist)	Each	12	\$13.51	\$162.12	\$13.59	\$163.08
	(44" - 50" waist)		S15774	\$13.51 \$14.51	\$162.12		
			1			\$14.55	\$14.55
	(52" - 56" waist)		Ţ	\$16.11	\$16.11	\$16.22	\$16.22
	Sub-total		460		\$192.74		\$193.85
7	Men's Gym Shorts	Each	458		101		
	(Small - Large)		180	No Bid	0	\$3.27	\$588.60
	(X-Large)		132		0	\$3.27	\$431.64
	(2X-Large)		96		0	\$3.63	\$348.48
	(3X-Large)		48		0	\$3.63	\$174.24
	(4X-Large)		1		0	\$3.63	\$3.63
	(5X-Large)		1		0	\$4.63	\$4.63
	Sub-total				\$0.00	i	\$1,551.22

Bid # 17-345-006 - Institutional Clothing, Bedding and Tolletries Evaluation *

	Category A - Clothing			100	ry Supply sant, TN		Barker arina, NC
Bid Item #		Unit of Measure	Estimated Annual Quantity		Extended Price		Extended Price
	Description			Unit Price	FIICE	Unit Price	File
8	Knee Length Walking Short	Each	783	04.50	******	8404	******
	(Med - XLarge)		600	\$4.50	\$2,700.00	\$4.04	\$2,424.00
	(2-XLarge)		144	\$6.00	\$864.00	\$4.04	\$581.76
	(3-XLarge)		1	\$6.00	\$6.00	\$4.99	\$4.99
	(4X-Large)		36	\$6.00	\$216.00	\$5.75	\$207.00
	(5X-Large)		1	\$7.50	\$7.50	\$5.75	\$5.75
	(6X-Large)		1	\$7.50	\$7.50	\$5.75	\$5.75
	Sub-total				\$3,801.00		\$3,229.25
9	Disposable Coveralls	Case	10	No Bid	0	\$29.99	\$299.90
	Sub-total				\$0.00		\$299.90
10	Multi-Purpose Nightshirt	Each	96			******	
	(Small - Large)		16	\$4.97	\$79.52	\$4.30	\$68.80
	(X-Large)		16	\$4.97	\$79.52	\$4.30	\$68.80
	(2X-Large)		16	\$4.97	\$79.52	\$4.30	\$68.80
	(3X-Large)		16	\$6.97	\$111.52	\$4.30	\$68.80
	(4X-Large)		16	\$6.97	\$111.52	\$4.30	\$68.80
	(5X-Large)		16	\$6.97	\$111.52	\$4.30	\$68.80
	(6X-Large)		1	\$6.97	\$6.97	\$4.30	\$4.30
	Sub-total				\$580.09		\$417.10
11	Men's Boxer Shorts	Dozen	254				
	(Small - Large)		85	\$12.71	\$1,080.35	\$11.64	\$989.40
	(X-Large)		110	\$13.77	\$1,514.70	\$11.90	\$1,309.00
	(2X-Large)		31	\$15.07	\$467.17	\$12.60	\$390.60
	(3X-Large)		23	\$16.11	\$370.53	\$12.60	\$289.80
	(4X-Large)		3	\$16.54	\$49.62	\$12.60	\$37.80
	(5X-Large)		1	\$16.54	\$16.54	\$16.90	\$16.90
	(6X-Large)		i	\$20.11	\$20.11	\$16.90	\$16.90
	Sub-total		,5	Ψ20.11	\$3,519.02	\$10.50	\$3,050.40
12	Men's Brief's (White Poly/cotton)	Dozen	48		93,313.02		\$3,030.40
12	(Small - Large)	Dozen	31	\$9.44	\$292.64	\$9.23	\$286.13
			17	\$9.44	\$160.48	\$9.73	\$165.4
	(X-Large)			75 E 20 E 10 E			
	(2X-Large)		1	\$10.44	\$10.44	\$10.93	\$10.93
	(3X-Large)		1	\$11.44	\$11.44	\$11.20	\$11.20
	(4X-Large)		1	\$11.44	\$11.44	\$11.80	\$11.80
	(5X-Large)		1	\$11.44	\$11.44	\$11.90	\$11.90
	(6X-Large)		1	\$11.44	\$11.44	\$11.90	\$11.90
	Sub-total				\$509.32		\$509.27
13	Sports Bra	Dozen	6				
	(Small - Large)		1	\$58.44	\$58.44	\$59.88	\$59.88
	(X-Large)		1	\$58.44	\$58.44	\$59.88	\$59.88
	(2X-Large)		1	\$58.44	\$58.44	\$59.88	\$59.88
	(3X-Large)		1	\$58.44	\$58.44	\$59.88	\$59.88
	(4X-Large)		1	N/A	\$0.00	\$59.88	\$59.88
	(5X-Large)		1	N/A	\$0.00	\$59.88	\$59.88
	(6X-Large)		1	N/A	\$0.00	\$59.88	\$59.88
	Sub-total				\$233.76		\$419.16
14	Sports Bra	Dozen	110				
	(Size 32)		14	\$17.11	\$239.54	\$16.29	\$228.06
	(Size 34)		12	\$17.11	\$205.32	\$16.29	\$195.48
	(Size 36)		10	\$17.11	\$171.10	\$16.29	\$162.90
	(Size 38)		12	\$17.11	\$205.32	\$16.29	\$195.48
	(Size 40)		19	\$17.11	\$325.09	\$16.29	\$309.5
	(Size 42)		9	\$18.78	\$169.02	\$16.29	\$146.6
	(Size 44)		8	\$18.78	\$150.24	\$16.29	\$130.3
	(Size 46)		6	\$18.78	\$112.68	\$16.29	\$97.7
			17		\$327.08		
	(Size 48)			\$19.24		\$18.00	\$306.0
	(Size 50)		2	\$19.24	\$38.48	\$18.00	\$36.0
	(Size 52)		1	\$19.24	\$19.24	\$18.00	\$18.00
	Sub-total				\$1,963.11		\$1,826.1

Bid # 17-345-006 - Institutional Clothing, Bedding and Toiletries Evaluation *

	Category A - Clothing			(A) Victor Mt. Plea		(B) Bob Barker Fuquay Varina, NC	
Bid Item #	Description	Unit of Measure	Estimated Annual Quantity	Unit Price	Extended Price	Unit Price	Extended Price
15	Girls' Panties (Small Size: 5 - 7) (Medium Size: 8 - 10)) (Large Size: 11 - 14) (XLarge Size: 15-18) Sub-total	Dozen	247 159 77 10 1	\$6.54 \$7.44 \$8.19 \$8.44	\$1,039.86 \$572.88 \$81.90 \$8.44 \$1,703.08	\$6.79 \$7.69 \$7.69 \$7.90	\$1,079.61 \$592.13 \$76.90 \$7.90 \$1,756.54
16	Women's Panties (Small Size: 5 - 7) (Medium Size: 8 - 10)) (Large Size: 11 - 14) (XLarge Size: 15-18) Sub-total	Dozen	61 24 35 1	\$6.54 \$7.44 \$8.19 \$8.44	\$156.96 \$260.40 \$8.19 \$8.44 \$433.99	\$6.79 \$7.27 \$7.59 \$7.59	\$162.96 \$254.45 \$7.59 \$7.59
17	Women's Brief's (Fruit of the Loom) (Small Size: 5 - 7) (Medium Size: 8 - 10)) (Large Size: 11 - 14) (XLarge Size: 15-18) Sub-total	Dozen	12 8 2 1	\$17.47 \$17.47 N/A N/A	\$139.76 \$34.94 \$0.00 \$0.00 \$174.70	\$14.40 \$14.40 N/A N/A	\$115.20 \$28.80 \$0.00 \$0.00
18	T-Shirt - 100% Preshrunk Cotton (Small- XLarge) 2XL - 4XL 5XL - 6XL 7XL Sub-total	Dozen	127 83 42 1	\$16.91 \$27.47 \$31.99 \$41.99	\$1,403.53 \$1,153.74 \$31,99 \$41.99 \$2,631.25	\$21.80 \$26.00 \$32.00 \$38.00	\$1,809.40 \$1,092.00 \$32.00 \$38.00 \$2,971.40
19	T-Shirt (Heavy weight - colors) (Med-Large) (XLarge) (2XLarge) (3X-Large) (4X-Large) (5X-Large) (6X-Large)	Each	1413 438 468 408 96 1	\$2.44 \$2.44 \$3.39 \$3.44 \$3.88 \$4.22 \$4.22	\$1,068.72 \$1,141.92 \$1,383.12 \$330.24 \$3.88 \$4.22 \$4.22	\$2.08 \$2.08 \$3.49 \$3.49 \$3.49 \$3.49 \$3.49	\$911.04 \$973.44 \$1,423.92 \$335.04 \$3.49 \$3.49
20	Sub-total T-Shirt (Heavy Weight - white) (Medium - Large) (X-Large) (2X-Large) (3X-Large) (4X-Large) (5X-Large) (5X-Large) (6X-Large)	Dozen	237 79 64 36 39 8 8	\$16.91 \$16.91 \$27.47 \$27.47 \$27.47 \$31.99 \$31.99	\$1,335.89 \$1,082.24 \$988.92 \$1,071.33 \$219.76 \$255.92 \$95.97	\$20.12 \$21.00 \$31.00 \$34.48 \$34.48 \$35.92 \$43.00	\$3,653.91 \$1,589.48 \$1,344.00 \$1,116.00 \$1,344.72 \$275.84 \$287.36 \$129.00
21	Sub-total T-Shirt (Outerwear)	Each	338 108 84 72 24 48 1	\$2.19 \$2.19 \$3.07 \$3.37 \$3.62 \$3.62 \$3.88	\$5,050.03 \$236.52 \$183.96 \$221.04 \$80.88 \$173.76 \$3.62 \$3.88	\$2.10 \$2.19 \$3.20 \$3.20 \$3.20 \$1.20 \$3.75	\$6,086.40 \$226.80 \$183.96 \$230.40 \$76.80 \$153.60 \$0.00 \$3.75 \$875.31
22	Terry Sport Sock (low cut) Men's (#M4595) Laides/Juveniles (#A4595) Sub-total	Dozen	124 112 12	\$5.11 \$5.11	\$572.32 \$61.32 \$633.64	\$4.15 \$4.15	\$464.80 \$49.80 \$514.60
23	Sock - Over-The-Calf (one size fits al Sub-total	Dozen	448	\$5.79	\$2,593.92 \$2,593.92	\$6.90	\$3,091.20 \$3,091.20

Bid # 17-345-006 - Institutional Clothing, Bedding and Toiletries Evaluation *

Category A - Clothing		Category A - Clothing			(A) Victory Supply Mt. Pleasant, TN		Barker 'arina, NC
Bid Item #	Description	Unit of Measure	Estimated Annual Quantity	Unit Price	Extended Price	Unit Price	Extended Price
24	Durable Bob's Blues (13.75 oz.) 30" - 42" Waist 44" - 46" Waist Sub-total	Pair	35 34 1	No Bid No Bid	0 0 \$0.00	\$10.90 \$10.90	\$370.60 \$10.90 \$381.50
25	T-Shirt (men's economy) One Size Fits All Sub-total	Dozen	48 48	\$26.28	\$1,261.44 \$1,261.44	\$23.00	\$1,104.00 \$1,104.00
26	Tag-Free T-Shirt S - XL 2XL - 4XL 5XL - 6XL 7XL 8XL - 10XL Sub-total	Dozen	123 72 48 1 1	\$19.84 \$47.88 \$53.88 \$53.88 \$92.50	\$1,428.48 \$2,298.24 \$53.88 \$53.88 \$92.50 \$3,926.98	\$19.99 \$22.99 \$28.99 \$29.99 \$36.99	\$1,439.28 \$1,103.52 \$28.99 \$29.99 \$36.99 \$2,638.77
	Category A Sub-totals Additional Purchases Discount Local Vendor preference Discount Payment Terms Category A Total		\$1,500.00	10.00% 0.00% 0.00%	\$52,412.05 \$1,350.00 \$0.00 \$0.00 \$53,762.05	5.00% 0.00% 0.00%	\$51,101.03 \$1,425.00 \$0.00 \$0.00 \$52,526.03

Bid # 17-345-006 - Institutional Clothing, Bedding and Toiletries Evaluation *

	Category B: Footware	1		Victory Mt. Plea	Supply sant, TN	Bob B Fuquay V	
Item #	Description	Unit of Measure	Estimated Annual Quantity	Unit Price	Extended Price	Unit Price	Extended Price
27	Thong (heavy duty x-strap) (Small = Sizes 6 - 7) (Medium: Sizes 8 - 9) (Large: Sizes 10 - 11) (Xlarge) = Sizes 12 - 13) (2Xlarge = Sizes 14 - 15)		29 1 2 2 2 2 2	No Bid	\$0.00 \$0.00 \$0.00 \$0.00 \$0.00	\$8.38 \$8.38 \$8.38 \$8.38 \$8.38	\$8.38 \$16.76 \$16.76 \$16.76 \$184.36
28	Men's Canvas Velcro Shoe (Whole Sizes: 4 - 17) (Half sizes: 5.5 - 11.5) Sub-total	Pair	2269 2269 1	\$5.24 \$5.24	\$11,889.56 \$5.24 \$11,894.80	\$4.83 \$4.83	\$10,959.27 \$4.83 \$10,964.10
29	EVA Step-Ins S - 3XL Sub-Total	Pair	1234 1234	\$3.94	\$4,861.96 \$4,861.96	\$3.15	\$3,887.10 \$3,887.10
30	All Purpose PVC Sandals S - 3XL Sub-total	Pair	156 156	\$2.24	\$349.44 \$349.44	\$2.13	\$332.28 \$332.28
31	Durable Canvas Deck Step-Ins (Whole Sizes 3 - 16) (Half Sizes: 5-1/2 - 11-1/2 Sub-total	Pair	49 48 1	\$3.77 \$3.77	\$0.00 \$3.77 \$0.00	\$3.85 \$3.85	\$184.80 \$0.00 \$184.80
32	Versatile PVC Sandals Wholes Sizes 6 - 14	Pair	163 163	\$2.24	\$365.12 \$365.12	\$1.49	\$242.87 \$242.87
33	Leather Low-Top Velcro Whole Sizes: 3 - 17 Half Sizes: 3-1/2 - 11-1/2 Sub-total	Pair	150 150 1	\$15.64 \$15.64	\$2,346.00 \$15.64 \$2,361.64	\$14.23 \$14.23	\$2,134.50 \$14.23 \$2,148.73
	Category B Totals Additional Purchases Discount Local Vendor preference Discount Payment Terms Category A Total		\$500.00	10.00% 0.00% 0.00%	\$19,832.96 \$450.00 \$0.00 \$0.00 \$20,282.96	5.00% 0.00% 0.00%	\$18,002.90 \$475.00 \$0.00 \$0.00 \$18,477.90

Bid # 17-345-006 - Institutional Clothing, Bedding and Toiletries Evaluation $\mbox{^{\star}}$

Category C: Matresses, Covers, Pillows, Pillowcases, Linens & Towels				4 may 1991 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	Supply sant, TN		Barker arina, NC
Item #	Description	Unit of Measure	Estimated Annual Quantity	Unit Price	Extended Price	Unit Price	Extended Price
34	Flame-Check Mattress - (30"x75"x4")	Each	88	No Bid	\$0.00	\$39.00	\$3,432.00
35 36	Flame-Check Mattress - (25"x75"x4")	Each	213 5	No Bid	\$0.00		
37	Blanket (poly/acrylic/cotton blend) Pillowcase (T-130 thread count)	Case Dozen	8	\$5.6074	\$28.04 \$87.92	\$6.20 \$7.99	\$31.00 \$63.92
38	Sheet (white T-130 thread - flat)	Dozen	74	\$10.99 \$29.11	\$2,154.14	\$26.34	
39	Towel (white - regular grade 25"x50")	Dozen	25	\$28.11	\$702.75	\$24.85	\$621.2
40	Towel (white-regular grade 22"x44") Towel (White - regular grade)	Dozen	121	\$15.91	\$1,925.11	\$16.30	\$1,972.3
41	22" x 44" Washcloths (white regular grade	Dozen	72	\$18.68	\$1,344.96	\$16.90	\$1,216.80
42	12x12	Dozen	14	\$2.91	\$40.74	\$2.90	\$40.60
	Sub-total				\$6,283.66		\$16,696.83
	Additional Purchases Discount Local Vendor preference		\$500.00	10.00% 0.00%	\$450.00 \$0.00	5.00% 0.00%	\$475.00 \$0.00
	Discount Payment Terms Category A Total			0.00%	\$0.00 \$6,733.66	0.00%	\$0.00 \$17,171.83

Bid # 17-345-006 - Institutional Clothing and Bedding and Toiletries Evaluation *

Category D: Toiletries				Bob B Fuqua		Pacific Care San Franc	
		Unit of	Estimated		Extended		Extended
	5		Annual		Extended Price	11-14 D-1	Price
Item #	Description	Measure	Quantity	Unit Price		Unit Price	
43	Toothbrush - super shorty	Case	67	\$5.50	\$368.50	\$6.45	\$432.15
44	Toothbrsuh - nylon bristle	Case	2	\$9.53	\$19.06	\$14.40	\$28.80
45	Toothpaste - Nature Mint 6.4 oz	Case	9	\$32.55	\$292.95	\$36.00	\$324.00
46	Toothpaste - Nature Mint .85 oz	Case	29	\$18.00	\$522.00	\$17.28	\$501.12
47	Sanitary Toothbrush Caps	Case	6	\$7.00	\$42.00	\$21.60	\$129.60
48	Deodorant - alcohol free 1.6 oz	Case	12	\$5.99	\$71.88	\$10.20	\$122.40
49	Comb 5" black	Case	6	\$3.52	\$21.12	\$7.20	\$43.20
50	Toe Nail Clipper - no file	Case	2	\$7.00	\$14.00	\$9.00	\$18.00
51	Finger Nail Clipper - no file	Case	2	\$7.39	\$14.78	\$9.00	\$18.00
52	Maxi-Pad - beltless, powder free	Case	4	\$28.85	\$115.40	\$23.50	\$94.00
53	Lip therapy Vaseline .35 oz	Case	2	\$74.50	\$149.00	\$79.85	\$159.70
54	Tampons - individually wrapped	Case	10	\$32.73	\$327.30	\$29.95	\$299.50
55	Sta-Rite Ponytail holder	Cards	7	\$6.99	\$48.93	\$12.00	\$84.00
56	Shampoo total Body (Dail body & hair)	Case	2	\$58.20	\$116.40	\$39.00	\$78.00
57	Razor - twin blade dosposable	Case	7	\$35.05	\$245.35	\$36.00	\$252.00
58	Shampoo - individual .34 oz	Case	17	\$46.50	\$790.50	\$39.50	\$671.50
59	Barbicide - EPA registred	Case	8	\$87.20	\$697.60	\$78.65	\$629.20
60	Clorox - Disinfecting wipes	Case	10	\$40.60	\$406.00	\$49.97	\$499.70
61	Shave Cream - brushless .85 oz	Case	1	\$33.00	\$33.00	\$28.80	\$28.80
62	Soap - antibacterial deodorant 1.25 oz.	Case	17	\$48.50	\$824.50	\$49.50	\$841.50
63	Hand sanitizer - antimicorbial hand gel	Case	1	\$68.60	\$68.60	\$73.69	\$73.69
64	Antacid - calcium carbonate	Case	285	\$4.99	\$1,422.15	\$6.50	\$1,852.50
65	Non-Aspirin - regular strength 325 mg	Case	15	\$6.25	\$93.75	\$8.00	\$120.00
66	Ibuprofen - 200 mg	Case	15	\$15.99	\$239.85	\$21.51	\$322.65
67	Golf Pencil - 3" no eraser	Case	75	\$4.02	\$301.50	\$5.50	\$412.50
68	Toothpaste - flouride .6 oz	Case	25	\$14.80	\$370.00	\$15.50	\$387.50
69	Soap - antibacterial deodorant .5 oz	Case	2	\$43.55	\$87.10	\$39.95	\$79.90
70	Deodorant - freshscent gel pack .12 oz	Case	2	\$42.95	\$85.90	\$39.50	\$79.00
71	Deodorant Stick maximum security	Case	28	\$35.20	\$985.60		\$1,008.00
72	Tampons - w/ cardboard applicators	Case	2	\$40.99	\$81.98		\$90.00
73	Laundry Bags - biodegradable 26x33	Case	3	\$57.04	\$171.12		\$189.00
74	Hairbrush - vented 7 3/4"	Case	12	\$4.18	\$50.16		\$50.40
75	Soap - Dial basic liquid	Case	4	\$84.60	\$338.40		\$168.00
76	Conditioner Packets - Dial .25oz	Case	3	\$54.50	\$163.50	/40	\$177.00
77	Shampoo - Suave, green apple, 12 oz	Case	1	\$11.42	\$11.42		\$12.98
X-3-	Lotion - Suave cocoa butter skin			¥,=	******		*,,-1.55
78	therapy	Case	7	\$15.60	\$109.20	\$13.95	\$97.65
79	Extra Strength Non-Aspirin 500mg	Case	42	\$6.40	\$268.80	\$13.34	\$560.28
80	Custom Kits	Kit	4800	\$1.49	\$7,152.00	\$1.65	\$7,920.00
- 55	Sub-total	131	1000		\$17,121.30	V 1.100	\$18,856.22
	CGS (CG)				\$11,121.00		\$10,000.EE
	Additional Purchases Discount		\$500.00	5.00%	\$475.00	8.00%	\$460.00
	Local Vendor preference		Ψ000.00	0.00%	\$0.00		\$0.00
	Discount Payment Terms			0.00%	\$0.00	0.00%	\$0.00
	Category A Total			0.0078	\$17,596.30	0.0078	\$19,316.22